. What is meant by ‘Unemployment’ ? What are its
various kinds ? Explain.

T & ;0 Ay § 2 a8 fRad ¥R & B
¥ ? faa=m wifsu

. Write short notes on the following :

(1) Agriculture Labour

(ii)) Unorganised Labour

frefafea w dfya femforr fafea -

(i) wfder =i

(i) erEfea gfaew

. Discuss the main object and importance of labour
statistics.

97 Wit & Al a9l SHHT Hedl 1 IUH d49 o
T |
. Explain the causes of Rural Unemployment.

IO SUSTIRT & Y @ RO § ? Sasu|

. What necessary steps do you suggest to overcome
the problem of rural unemployment ?

T SRS %l X hid & AT 319 -3 STevas
goma <7 ?
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Note .— The question paper is divided into two Sections
A and B. Write answers as per the given
instructions.

et - 7w g ‘e SR ‘F' ) wel B fawfea ¥ v
Tue &% FRUgER ¥e9i & SW S|

Section-A 10x2=20
(Very Short Answer Type Questions)

Note .— Answer all questions. As per the nature of the
question delimit your answer in one word, one
sentence or maximum up to 30 words. Each

question carries 2 marks.
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(3tfa &g ST 999)

Fdor - Tt gl & SR NI o T W AT YIAHER

I.

TH IR, TH A A SAfeshad 30 vl § qREfad
FIT | FF T 2 SAHI HT T

Explain the following :

o oo (aWa
[SEaINIECK W AR hlIsid @

(i) Labour
s

(i1) Casual Labour
Eieaiscal It Cy

(i11) Labour Absenteeism
gfer  stqafeafa

(iv) Appropriate Government
fEd TR

(v) Five Year Plan
EECEiRIRISE

(vi) Year of Indian Labour Statistics Act

(vii) Labour Bureau

7 =

(viii) Agriculture Labour

F AT
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(ix) Small Scale Industry
T S

(x) Unemployment
SRS

Section-B 4x20=80
(Short Answer Type Questions)

Note .— Answer any four questions. Each answer should not

exceed 200 words. Each question carries 20 marks.
g —d
(g T q99)

ot - fedl o) 9yl & S AfSu) o9 s SW oW

aAfereRae 200 gt W UREfH wifSwl s 99A
20 S{hi w1

. Discuss the main characteristics of industrial

labour.

siEnfes o= 1 gqa fowemet | g Sifen |

. What do you mean by ‘Labour Turnover’ and

‘Labour Absenteeism’ ? Discuss in brief.
‘o aeell’ wd ‘o eruffa’ | ey o wHe € ?
Tferq ®9 § 9HeET |

. What do you understand by ‘Labour Force’ ?

Discuss its composition and characteristics.
‘g S’ W Y N WHSA T 2 THR! T TS YA

T U HITST |
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